
MONTERINGSANVISNING  |  MONTAGEANLEITUNGEN

Assembly Instruction

@Venturehomese

@Venture.Desig
n

ProductNumber: 2044-408
Description:Sopot - Sofa Set- Black / Grey - Aluminium -



MONTERINGSANVISNING  |  MONTAGEANLEITUNGEN

Assembly Instruction

@Venturehomese

@Venture.Desig
n

. .

AutoCAD SHX Text
No.

AutoCAD SHX Text
No.

AutoCAD SHX Text
Qty

AutoCAD SHX Text
Qty

AutoCAD SHX Text
E

AutoCAD SHX Text
G

AutoCAD SHX Text
M6*35

AutoCAD SHX Text
28

AutoCAD SHX Text
1

AutoCAD SHX Text
E1

AutoCAD SHX Text
4

AutoCAD SHX Text
Art nr:

AutoCAD SHX Text
Art nr

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
F

AutoCAD SHX Text
40

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
E2

AutoCAD SHX Text
M6*25

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
M6*20

AutoCAD SHX Text
8



www.VentureHome.se  |  www.VentureDesign.se

@Venturehomese

@Venture.Desig
n



www.VentureHome.se  |  www.VentureDesign.se

@Venturehomese

@Venture.Desig
n



www.VentureHome.se  |  www.VentureDesign.se

@Venturehomese

@Venture.Desig
n



www.VentureHome.se  |  www.VentureDesign.se

@Venturehomese

@Venture.Desig
n

Do not tighten screws until all screws

have been assembled !

..

PLEASE KINDLY NOTE THAT THIS DINING CHAIR  WILL BE ASSEMBLED BEFORE LEAVE THE FACTORY,

PLEASE KEEP THIS MANUAL..

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
M6*20

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
4

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
E1

AutoCAD SHX Text
F

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
M4

AutoCAD SHX Text
M6*30

AutoCAD SHX Text
E1

AutoCAD SHX Text
F

AutoCAD SHX Text
8



www.VentureHome.se  |  www.VentureDesign.se

..

PLEASE KINDLY NOTE THAT THIS DINING CHAIR  WILL BE ASSEMBLED BEFORE LEAVE THE FACTORY,

PLEASE KEEP THIS MANUAL..

@Venturehomese

@Venture.Desig
n

Do not tighten screws until all screws

have been assembled !

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
M6*20

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
6

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
1999-6028

AutoCAD SHX Text
M4

AutoCAD SHX Text
M6*30

AutoCAD SHX Text
E1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
E1

AutoCAD SHX Text
F

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
F

AutoCAD SHX Text
10


